Algebra 2
Homework—Operations of Functions

Find each of the following functions.
1. Let f(x) = 2x —5and g(x) = x? — 3x — 10.

a. (f+9)™)
b. (f —9)(x)

c. (fg)

o (e

2. Letf(x)=x2—8x+16andg(x) =4x — 7.

a. (f +9)(x)
b. (f —9)(®)

c. (fg)x)
d. (f—]) (%)

3. Let f(x) = 6x3 and g(x) = —8x7.

a. (f+9)™)
b. (f —9)(®)

c. (f9x)

o (e

Name:




For questions 4-8, simplify each expression.

4. V6x10 - 36x11

5. Va3 - 3x

|

64m15

9. Which of the following expressions is equivalent to 8m??

3
3 g=+.3/m15 b (4m§) c 1
L = ) 2 B
875 Vm? 8m10 (16%m§)

10. Explain which student’s work and claim is correct:

Student #1: Student #2:

4 4
Claim: y3 = (‘{/})3 Claim: y3 = }/y*

1 1 1 1
Work: (yZ SZE yZ) Work: (y-y-y-y)s
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